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QID : 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

afafEa uwr & R ow faweat & @ ux R
(?) & TATT T e arell FEAT H I

31 41| 2|23
712 | 3|41
8 |1 2|3 |7

Options:
1) 25

2) 37
3)43

4) 47
Correct Answer: 47
Candidate Answer: 47

QID: 202 -
How many triangles are there in the given figure?

& 7S s 3 Rt Prager ¥

Options:
1)5

2)6
3)7

4)8
Correct Answer: 6
Candidate Answer: 6

Download More Paper§)From GovtJobsAlert.In


https://govtjobsalert.in/

S Download More Papers From GovtJobsAlert.In

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘D’ can
be represented by 02, 79, etc., and ‘Z’ can be represented by 00, 77, etc.
Similarly, you have to identify the set for the word “TRANK”.

U UG DA TH HEAT-HAE &RT oifm ¥, ot fb Rwedt A @
ot v A R mar &) Rwedt A Br v d=ar-asg sent & g aat
GRT geifw a1w ¥, Star & Bu aw o smegpt # ¥ osneqp & wae ik
ufh H TEar 0 @ 4 ¥ 3R IFGEU A 5 T 91 3 IR T TP @R
H ugel sEdr U AR 9 F TaF ST g ofar S oEear ¥
3ETROT & AT ‘D’ d 02, 79 I GRT GURT ST bl & dAT ‘27 @ 00,
77, 3G GRT GRAAT ST T ¥ W T F UM wA A Ru g
“TRANK” & v @efg at ugaear &

Matrix-I Matrix-ll
-l Jeyg-ll
0|1(2(|3]| 4 5|/6[7(8]|9
0|Z[(O|D|W|X S|A(V|X|P|U
1{GIM|N|H|V 6 KIM|O|T|S
2|E(O|Y|K|P 7(L|T|(Z|A|D
3|D|G[W|L|R 8(F|H|R|L|N
4(AlE|JU|IN|K g|u(Jd|Q|V|X

Options:
1) 76, 24, 40, 12, 34

2) 10, 11, 55, 89, 23
3) 68, 87, 78, 12, 44

4) 76, 21, 55, 43, 34
Correct Answer: 68, 87, 78, 12, 44
Candidate Answer: 68, 87, 78, 12, 44

QID : 204 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3 gfadl # ¥ 3@ T HgA F AT
o # oy spla BT &

o
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Options:

1)

B%

2)

3)

4)

O

Correct Answer:

QfL

Candidate Answer:

LF

QID : 205 -
Which answer figure will complete the pattern in the

question figure?
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HiT W W FFA TH HPHlad & UasT & g

Ff?

A
S
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Options:

Correct Answer:

i

Candidate Answer:

i

QID : 206 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg T SUUT A AB [T W W@ AT, a1 & T
IR HHAAT A T Pl O Hpfa wF gl Hr

e ufafasa gefr?

A B
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Options:
1)

2)

3)

4)

B |©] [F] |

Correct Answer:

X

Candidate Answer:

O

QID: 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

= F Uy agladl A @MW WGER FE @
Az Ve JUT Wed & g I 5T 3R e
s e &em?

8 114

Download More Paper®)From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Options:
1)

3

—~

4

~

00 00

Correct Answer:

00 00©

Candidate Answer:

00 00

QID : 208 - If 'P' means '+', 'Q"' means '+', 'R' means 'x' and 'S' means -, then
4Q9R36P4S12="?
Ife P T 3T '3, 'Q T Y '+, R T A X qUT'S' ;Y - g, Al

4Q9R36P4S12="7?
Options:

1)73

2) 47

3) 68

4) 113

Correct Answer: 73
Candidate Answer: 73

QID:209-1f6 #4 #0=046and 7 # 1 # 3 = 317, then

3#0#1=2?
IE6#4#0=046TAM7 # 1 #3=317g,

3#0#1 =2

Options:

1) 310

2) 103

3)13

4) 31

Correct Answer: 103
Candidate Answer: 103

Download More Paper$)From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Rest
2. Raid
3. Ring
4. Reap
5. Range

e Areal T Areeehier # 3T aTel Tl & AR ford|

1. Rest
2. Raid
3. Ring
4. Reap
5. Range

Options:
1) 25143

2) 52143
3) 25413

4) 52413
Correct Answer: 25413
Candidate Answer: 25413

QID : 211 - In the following question, select the missing humber from the given series.
29, 27, 24, 20, 15, ?
TerAfald weat & U a1v fashedl & § oo 37 AT Hioiv|

29, 27, 24, 20, 15, ?
Options:

1)9

2)8

3) 10

4) 11
Correct Answer: 9
Candidate Answer: 9

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
CD, GH, KL, OP, ?
TS 3eTehat T a1 8, foreet & v e ded ¢ v 1w faewet 7 & 95 e fawew g, St sngwma O |

CD, GH, KL, OP, ?

Options:
1) ST

2)Ts
3) QR

4) SU
Correct Answer: ST
Candidate Answer: ST

QID : 213 - In the following question, select the odd word from the given alternatives.

TF=ATe e weat # U 91¢ fashodl & & fawer Usg &1 giAv|
Options:

1) Cup

Eaey

2) Water

Sfel

3) Jug

[cll

4) Bucket

Cica

Correct Answer: Water
oTel

Candidate Answer: Water
ST
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QID : 214 - In the following question, select the odd number pair from the given alternatives.

TF=Te e weat # U 91C fashout & & fawer dear go9d &1 v

Options:
1)17-19

2)23-25
3)33-35

4)43 -39
Correct Answer: 43 - 39
Candidate Answer: 43 — 39

QID : 215 - In the following question, select the odd letters from the given alternatives.

TF=ATe e weat # U 91T fashout 3 & fawer 37eRT I giav|

Options:
1) H)

2) MP
3)RT

4) WY
Correct Answer: MP
Candidate Answer: MP

QID : 216 - Identify the diagram that best represents the relationship among the given classes.

Dog, Pet animals, Pencil
aE ING AT S o R 91w gaif & ey & Faer a0 Fgy fFAwaor e g

Fedl, dTele] STeTe, i

Options:
1)

2)

o5

3)

O
e

4

g

Correct Answer:

o5

Candidate Answer:

o5
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QID : 217 - In the following question, select the related word from the given alternatives.

Fresh : Stale : : Straight : ?
AT weat # 7T 10 fashoul & & Hefera esg &1 giav|

arar: ardft: s e ?
Options:

1) Twisted

7T g

2) Line

ar

3) Road

Hseh

4) Join

Eicc)

Correct Answer: Twisted
g

Candidate Answer: Twisted
o g

QID : 218 - In the following question, select the related number pair from the given alternatives.
12:146::?:?

TerAfaed weat & v a1v fashedl & @ Heiftra dear god &1 giav|

12:146::?:?

Options:

1) 16 : 258

2)13: 167

3)15:228
4)14: 193

Correct Answer: 16 : 258
Candidate Answer: 16 : 258

QID : 219 - In the following question, select the related letters from the given alternatives.
CAB:FEG::RUN:?

TerAfafed weat # U a1v fashet & & Heiftrd 3R &1 giav

CAB:FEG::RUN:?

Options:

1) UYS

2) UYT

3) UWS

4) UVS
Correct Answer: UYS
Candidate Answer: UYS

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.

RINGINGS

TrsteEd fashodt & & a5 oreg AT ST T 7T 2reg; & 3R T FHNT 7k QT S=A1dT S Hehell|
RINGINGS

Options:

1) RING

2) SING

3) GRIN

4) GRAIN
Correct Answer: GRAIN
Candidate Answer: GRAIN

QID : 221 - If North is called South, South is called North and East is called West, then what will be North-East called as?

T 3ca T GTRIIT FGT ST §, GIATOT T Sl FHT ST § AAT I3 T IIRGH gl A1l &, AT Scak-qd T 4T FHgT SAAaM?
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Options:
1)pNorth-West
ScR-afeaH
2) South-West
CAGIR I RGE:
3) West
qf¥as
4) South
gfayor
Correct Answer: South-West
AL S IRCE:
Candidate Answer: South-West

gferoT-gfRas

QID : 222 - Beena is 20th from either end of a row. How many people are there in the row?

ST Ueh GfebeT o alell ORE A 20 dF &1 dierd & Frol fohciel saferd 87
Options:

1) 39

2) 40

3)41

4) 38
Correct Answer: 39
Candidate Answer: 39

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some pens are pencils.
I1. Some pencils are cups.

Conclusions:
I. Some cups are pens.
II. Some pencils are pens.

A fT 91T 99T & $© YA 3R IeTeh d1e; 37 HYAT R MR Fov fevsehs Ru a1v €, grefifeh 37 A= A T2 § ewiar &7 Fenchh &1 Tl forsend 08 31k e
Fuifa a5 e v wiq & e, e 1w =@t & 3R ) gfFawed &

HYeT:
L % Fo# S 8
I1. Fo $fe F9 §

faswy:

L. $& %Y Hed £

I1. %o 9Tel e €1

Options:

1) Only conclusion (I) follows.

el sy (1) Tér 8|

2) Only conclusion (II) follows.

Faer sy (I1) TE &1

3) Both conclusion follow.

2l g1 fsehy @el g

4) Neither conclusion (I) nor conclusion (II) follows.
& ar sy (1) 7 & foss (11) wer 21

Correct Answer: Only conclusion (II) follows.

Faer frsay (I1) TE &1

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

o ar forsas (1) o & s (1) a8 &

QID : 224 - In a certain code language, 'pink’ is written as 'wood', 'wood' is written as 'red’, 'red' is written as 'stone’, 'stone’ is written as 'car' and 'car' is
written as 'sky'. What do we drive?

T, fAfRISe iz HI9T &, 'T[erdl’ H TR, THIY B AT, AT B TeAT, "TeqT FH EY AT TP H HHRM G ST &1 §H FAT Tl §?
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Options:
l)pcar
amsr
2) stone
9
3) sky
3ATRIRA
4) red
olTel
Correct Answer: sky
3ATRTRA

Candidate Answer: sky
3ATRIRA

QID : 225 - In a certain code language, "TROY" is written as "156" and "HULK" is written as "104". How is "MIST" written in that code language?

s fafRIse #g ST A, "TROY" &1 "156" TUT "HULK" &t "104" ford@r SIrar 1 37 $15 $T9T & "MIST" & {5 R for@r sireem?
Options:

1) 112

2) 132

3) 122

4) 146
Correct Answer: 122
Candidate Answer: 132

QID : 226 - Sarojini allows 4% discount on the marked price of her article and still earns a profit of 20%. What is the cost price of a shirt if its marked price is Rs
850?

TRITSAT 3T Ueh TE] o 3iTehel FoT T 4% T Fe &l § 3R TR 87 20% T o187 TTeeT Tl &1 TE T T Hed T &, le; ST 3iThed 7o 850 % 82
Options:

1) Rs 680

680 %

2)Rs 780

780 %

3)Rs 720

720%

4) Rs 520

5200 %

Correct Answer: Rs 680
680 %

Candidate Answer: Rs 680
680 T

QID : 227 - What is the sum of all even integers between 15 and 37?

15 31 37 & ofrar v weft quifer T FEAT3T 7 AT AT 87

Options:
1) 366

2) 378
3) 288

4) 286
Correct Answer: 286
Candidate Answer: 286

QID : 228 - How many integers are there between 63 and 345 which are exactly divisible by 8?

63 31T 345 & el forctalt quiter HE&aTd &, St qft oe & 8 & fasrsw §2

Options:
1)32

2)33
3) 34

4) 36
Correct Answer: 36
Candidate Answer: [ NOT ANSWERED ]

Download More Paperé'From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 229 - Prem buys a table for Rs 450 and spends Rs 30 on its transportation. If he sells the table for Rs 600 what will be his gain percent?

UH 450 T H U I WU & 3R SHRT golT$ oX 30 & @ T §1 AT T8 STl 600 T & Il &, A JHHT oIeT Ticired &7 g1am?
Options:

1) 30%

2) 25%

3) 28%

4) 24%

Correct Answer: 25%

Candidate Answer: 25%

QID : 230 - A bus runs at an average speed of 45 km/hr. If it completes 405 km long-journey with a break of 1 hour, what is the total time taken during the
journey?

T 5 45 fRet/der F1 3 T & Tered ¥ 3R ar 405 e Y AT 1 6 & TR & A1 QI R §, A A R g 7 Rt Fo ereem?
Options:

1) 9 hrs

9gT

2) 10 hrs

10 5¢

3) 11 hrs

118¢

4) 12 hrs

128¢

Correct Answer: 10 hrs

10 &

Candidate Answer: 10 hrs
10 8¢

QID : 231 - What will be the sum of all two digit positive numbers divisible by 3?

3 @ QTS & 37T T oY Y=TTcHS TEAT3HT ST AT T gYam?

Options:
1) 1680

2) 1665
3) 1689

4) 1683
Correct Answer: 1665
Candidate Answer: [ NOT ANSWERED ]

QID : 232 - What is the value of (48% of 6400) + (84% of 8400).

(6400 FT 48%) + (8400 FT 84%) FT HIT T & |

Options:
1) 10128
2) 10228
3) 11128
4) 11228

Correct Answer: 10128
Candidate Answer: 10128

QID : 233 - Suresh does complete a work in 20 hours. Ram is 25% more efficient than Suresh. What is the total number of hours Ram takes to complete the same
work?

R T HIH HI 20 6 F G HIAT &1 TH, A & 25% 3T HIEFHRI §1 I I 1 T G FeA 6 AT frcter 6 37 GAF 0¥t 82
Options:

1) 24 hrs

24 €¢

2) 18 hrs

18 gT

3) 16 hrs

16 ¢

4) 25 hrs

25 8¢

Correct Answer: 16 hrs
16 ¢

Candidate Answer: 25 hrs
25 g

QID : 234 - What least number must be added to 750 so that the sum is completely divisible by 59?
750 H ATH HieT W AT A S =AM 1fer Ararher 59 & qoier: fassw gr sme?
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D5
2) 18
3)11
4) 17
Correct Answer: 17
Candidate Answer: 17

QID : 235 - The average age of a class of 29 students is 10 years. If the age of the teacher is added, the avearge age increases by 6 months. What is the age of
the teacher?

29 BT T T FET AT I 3T 10 ¥ §1 I Forw SR A 3y o 3w s &, A A I 6 T 95 A &1 Ford SR A 37 =T 82
Options:

1) 25 yrs

25 ay§

2) 24 yrs

24 9§

3) 30 yrs

30 @y

4) 32 yrs

32a¥

Correct Answer: 25 yrs
259§

Candidate Answer: 25 yrs

25 a§

QID : 236 - A seller offers 17% discount on a TV set with a marked price of Rs 5600. If he still earns a profit of Rs 500, what is the cost price of the TV set?

T fashdr 5600 ¥ 3ifahd He arel Tk Edl AT W 17% Te aT 1 3R T 8 g 500 % 1 @17 HATC &, ot ST Ve T 5 Hed AT 82
Options:

1) Rs 5100

5100%

2) Rs 4148

4148 %

3) Rs 4950

4950 ®

4) Rs 4930

4930 ®

Correct Answer: Rs 4148
4148 %

Candidate Answer: Rs 4148
4148 %

QID : 237 - The total surface area of a cube is 2166 cm?. What is the volume of this cube?

U ©eT T FFYOT 56 &TTGS 2166 T2 §| SH © T AT AT 87
Options:

1) 6759 cm3

6759 &3

2) 6959 cm3

6959 &3

3) 6859 cm3

6859 ¥

4) 7059 cm3

7059 =3

Correct Answer: 6859 cm3

6859 &3

Candidate Answer: 6859 cm3

6859 ¥#3

QID : 238 - A cyclist covers a distance of 22 kms in 4 hours. What is the average speed of the cyclists?

T Aol HaR 22 freT &1 gl 4 ¢ 7 7 el &1 wnsfher Har i 3ttee arfey s/ 82
Options:

1) 4 km/hr

4 ey, feier

2) 4.5 km/hr

4.5 ey feer

3) 5.5 km/hr

5.5 fopay. /eier

4) 10 km/hr

10 fpa./eier
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Correct Answer: 5.5 km/hr
5.5 forett. /eier

Candidate Answer: 5.5 km/hr
5.5 et /eier

QID : 239 - Sita deposited Rs 5,000 at 10% simple interest for 2 years. How much more money will Sita have in her account at the end of two years, if it is
compound semi-annually?

T o 2 |l & foIT 10% HIIROT $41s W 5,000 § ST 0| AR A5 31€-a1i¥es FATofet Fshgie SaTet §, al ar ay T Fatfod ox Hiar & @iy 7 forctetr 31 e gram?
Options:

1) Rs. 50

50%

2) Rs. 40

4073

3) Rs. 77.50

77.50 %

4) Rs. 85.50

85.50 %

Correct Answer: Rs. 77.50
77.50 %

Candidate Answer: Rs. 85.50
85.50 &

QID : 240 - How many of the following numbers are divisible by 36?

324, 338, 342, 356, 360, 1080
rifRd &7 & fhdel TEav 36 ¥ oy €7

324, 338, 342, 356, 360, 1080
Options:

1)2

2)3

3)4

4)5

Correct Answer: 3

Candidate Answer: 3

QID : 241 - The monthly salaries of A and B are in the ratio 13:15. If both of them get a salary increment of Rs 3000 per month, the new ratio becomes 29:33.
What is the new monthly salary of A?

A TT B & AT defell T 31e]aTel 13:15 §1 3R &t T 3000 T T AT dcfer gig fAercl &, all w727 T[Tt 29:33 §Y STl & | A T 14T ATk defel FT §?
Options:

1) Rs 29000

29000 &

2) Rs 30000

30000 %

3) Rs 33000

33000 %

4) Rs 26000

26000 &

Correct Answer: Rs 29000
29000 &

Candidate Answer: [ NOT ANSWERED ]

QID : 242 - Price of a house came down by 20% during recession. After one year, the price increased by 25 %. What was the effective change percent in the price
of house over the original price?

HEY % ERTeT Th T BN HIHAT 20% F §1 ITE| Teh HIel ST HIAA H 25% H1 & g1 TR & #{eT Frovet # fhctel Gt HT Ferelre §HT?
Options:

1) 0%

2) 5%

3) -5%

4) 10%

Correct Answer: 0%

Candidate Answer: 0%

QID : 243 - A shopkeeper buys two dozen umbrella for Rs 3600. Four of the umbrellas were damaged during transportation. If the shopkeeper wants a profit of 10
percent then what should be the selling price for each umbrella?

T gHIAER & Eotel BTt 3600 T & TG §1 TR BT Golls h GRTeT &€ U] IR GhTAGR T 10 TTIRIT T ol1eT AT, A e B F1 367 Hed T gram?
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Options:
l)pRs 188
188 %
2) Rs 198
198 ¢
3)Rs 178
178 %
4) Rs 208
208 ®

Correct Answer: Rs 198
198 %

Candidate Answer: Rs 198
198 %

QID : 244 - A wall of 100 meter can be built by 7 large robots or 10 small robots in 10 days. How many days will 14 large robots and 20 small robots take to build a
wall of 600 meter?

100 FHrexX Fr EraR FI 7 93 ST AT 10 BT & 10 AT 7 97 Tohd &1 14 93 Asie 3R 20 B ST 600 FHieX FHr EaR FI F=11T & foIv rder f&eT oer?
Options:

1) 30

2) 25

3)20

4) 15

Correct Answer: 15

Candidate Answer: 15

QID : 245 - If Rs 2752 is divided in the ratio of 9:11:12 among A, B and C respectively, what will be the share of A?

3R 2752 T T A, B T C & & shaaer: 9:11:12 & 37eqarel # faenioieT foham Sirem &, ar A &1 feea &4 glam?
Options:

1) Rs 1046

1046 &

2) Rs 1032

1032%

3) Rs 946

946 &

4) Rs 774

774%

Correct Answer: Rs 774
774 %

Candidate Answer: Rs 774
774 %

QID : 246 - What is the largest 4-digit number divisible by 19?

19 & fA9T= 81=Y aTelY 4 37! I Tad T2 HEAT HisT IY §?

Options:

1) 9999

2) 9989

3) 9994

4) 9981

Correct Answer: 9994

Candidate Answer: [ NOT ANSWERED ]
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QID : 247 -
The pie-chart below shows enrolment in 5 subjects at graduate
level under 25 universities of a state. If the total number of
student enrolled in the 5 subjects is 12500, Answer the following
question on the basis of the data given in the chart below.

Ay fer a1 Wi R Uew & 25 faeafacgmedt A
Tolldeh TR O 5 fawat & a#ee &1 faawor gar &1 3R
grel fawat & fAeER e 12500 ST d#lfed &, ar

rafaf@a ved &1 W uis 9 & gefiv 1T st &
3TER W) &I

® physics/sitfadhr

B Chemistry/TaMdel AEA
" Mathematics/3TT0TT

® potany/d=Teafd AT

" Zoology/Sid, fa=iet

How many students are enrolled under Botany and Zoology together in all universities of the state?

T & Felt fareafagzrerat #t frarent gereafcr faemmet T Siq faaer fawat & gt frcet o amsifnd §2
Options:

1) 6525

2) 5375

3) 6520

4) 6550
Correct Answer: 5375
Candidate Answer: 6550
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QID : 248 -
The pie-chart below shows enrolment in 5 subjects at graduate
level under 25 universities of a state. If the total number of
student enrolled in the 5 subjects is 12500, Answer the following
question on the basis of the data given in the chart below.

Ay fer a1 Wi R Uew & 25 faeafacgmedt A
Tolldeh TR O 5 fawat & a#ee &1 faawor gar &1 3R
grel fawat & fAeER e 12500 ST d#lfed &, ar

rafaf@a ved &1 W uis 9 & gefiv 1T st &
3TER W) &I

® physics/sitfadhr

B Chemistry/TaMdel AEA
" Mathematics/3TT0TT

® Botany/deTeqid fa3iTeT

" Zoology/Sid, fa=iet

What is the average enrollment in Botany across universities?

T & favafaemert 7 aaedfa faame fawa # 3 A fohde 82
Options:

1) 100

2) 105

3) 120

4) 125

Correct Answer: 100

Candidate Answer: 125
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QID : 249 -
The pie-chart below shows enrolment in 5 subjects at graduate
level under 25 universities of a state. If the total number of
student enrolled in the 5 subjects is 12500, Answer the following
question on the basis of the data given in the chart below.

Ay fer a1 Wi R Uew & 25 faeafacgmedt A
Tolldeh TR O 5 fawat & a#ee &1 faawor gar &1 3R
grel fawat & fAeER e 12500 ST d#lfed &, ar

rafaf@a ved &1 W uis 9 & gefiv 1T st &
3TER W) &I

® physics/sitfadhr

B Chemistry/TaMdel AEA
" Mathematics/3TT0TT

® potany/d=Teafd AT

" Zoology/Sid, fa=iet

What is the difference between the average number of students enrolled in Mathematics and Chemistry across universities?
Treafaearert & a1ford 3R o et & Arifra ot & siaa Tear & i 3ia% Far 8?2

Options:

1) 60

2) 130

3)70

4) 80
Correct Answer: 60
Candidate Answer: 60
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QID : 250 -
The pie-chart below shows enrolment in 5 subjects at graduate
level under 25 universities of a state. If the total number of
student enrolled in the 5 subjects is 12500, Answer the following
question on the basis of the data given in the chart below.

Ay fer a1 Wi R U & 25 faeafacgredt &
TS TR R 5 fAwat & aamhe & faavwor &ar g1 3R
ofet vt & FeER Fa 12500 o awifed g, ar

AFAfAT@d Ued &1 3R U5 a@¢ & gefiv 1T st &
3R W &

® physics/sitfciehr

B Chemistry/TaMdel AEA
" Mathematics/3TT0TT

® Botany/dsTeafd AT

" Zoology/Sid, faiet

How many less students are enrolled in Physics than those in Mathematics across the state?

T & A0 & Febrerel T 7 et ot o1 aArAifonet §2
Options:

1) 1150

2) 1200

3) 1125

4) 1250

Correct Answer: 1125
Candidate Answer: 1200

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Richer countries can simply (1)/ buy up excess credits from poorer countries (2)/ and continue to polluting. (3)/ No error (4)

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 3
Candidate Answer: 1

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He had no trade but that of cobbler (1)/ which his father had taught him, and he found (2)/ the work class of his native country dominated by Communists. (3)/
No error (4)

Options:
1)1
2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: 1
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QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The principal
Options:
1) smiled

the audience for their visit that day.

2) thanking
3) curled

4) thanked
Correct Answer: thanked
Candidate Answer: thanked

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The sun in the east.

Options:
1) rose

2) rises
3) rise

4) rising
Correct Answer: rises
Candidate Answer: rises

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Hasty
Options:
1) Quick

2) Lazy
3) Slow
4) Delayed

Correct Answer: Quick
Candidate Answer: Lazy

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Mitigate
Options:
1) Incite

2) Intensify
3) Irritate

4) Reduce
Correct Answer: Reduce
Candidate Answer: [ NOT ANSWERED ]

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Praise
Options:
1) Blame

2) Criticize
3) Censure

4) Compliment
Correct Answer: Compliment
Candidate Answer: Compliment

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Interrogate

Options:

1) Reply

2) Grill

3) Inquire

4) Pump

Correct Answer: Reply
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Candidate Answer: Reply

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Commence
Options:
1) Terminate

2) Begin
3) Initiate

4) Originate
Correct Answer: Terminate
Candidate Answer: Terminate

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Lofty
Options:
1) High

2) Elevated
3) Lifted

4) Below
Correct Answer: Below
Candidate Answer: Elevated

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Horse around
Options:
1) To behave in a silly and noisy way

2) Avoid starvation
3) Keep the spirits up

4) Beaten dishonestly
Correct Answer: To behave in a silly and noisy way
Candidate Answer: Keep the spirits up

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

All in

Options:

1) Exhausted
2) Igniting

3) Brightened
4) Flared up

Correct Answer: Exhausted
Candidate Answer: [ NOT ANSWERED ]

QID : 263 - Improve the bracketed part of the sentence.

This enhancement of pets means taking care of a pet’s appearance, (personal hygienic), and health issues.
Options:

1) personal hygiene

2) professional hygiene

3) official hygiene

4) No improvement
Correct Answer: personal hygiene
Candidate Answer: personal hygiene

QID : 264 - Improve the bracketed part of the sentence.

Now people are focusing on their fitness not only for their aesthetic appeal (also but) for their health.
Options:

1) but even

2) but also

3) even but

4) No improvement
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Correct Answer: but also

Candidate Answer: but also

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Not endowed with life
Options:
1) Inmate

2) Inanimate
3) Humate

4) Ultimate
Correct Answer: Inanimate
Candidate Answer: [ NOT ANSWERED ]

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A picture drawn to make people laugh.
Options:

1) Aperture

2) Caricature

3) Puncture

4) Overture

Correct Answer: Caricature
Candidate Answer: [ NOT ANSWERED ]

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Charaectristic

2) Characteristic
3) Chracteristic

4) Chaeracteristic
Correct Answer: Characteristic
Candidate Answer: Characteristic

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Mortgage

2) Maurtgage
3) Mourtagage

4) Mourtgage
Correct Answer: Mortgage
Candidate Answer: Mourtgage

QID : 269 - Rearrange the parts of the sentence in correct order.

Hunger can be defined as

P: sensation caused by want of
Q: food; craving appetite

R: an uneasy or painful
Options:

1) PRQ

2) RPQ
3) QRP

4) PQR
Correct Answer: RPQ
Candidate Answer: PRQ

QID : 270 - Rearrange the parts of the sentence in correct order.

The changing social system is a
P: also brings change

Q: in the status of its members
R: universal factor which
Options:

1) RPQ

2) PRQ

3) QRP

4) PQR
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Correct Answer: RPQ
Candidate Answer: RPQ

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Knowledge helps us to our planning into the right action and to get the between right or wrong and good or bad. It helps us to our
weaknesses and faults as well as makes us able to face the dangers and difficulties by showing lots of courage and confidence. It makes a person powerful
by giving him mental, moral and spiritual advancement in the life.

helps us to our planning
Options:
1) convert

2) divert
3) retreat

4) erect
Correct Answer: convert
Candidate Answer: retreat

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Knowledge helps us to our planning into the right action and to get the between right or wrong and good or bad. It helps us to our
weaknesses and faults as well as makes us able to face the dangers and difficulties by showing lots of courage and confidence. It makes a person powerful
by giving him mental, moral and spiritual advancement in the life.

action and to

Options:
1) durable

2) enables
3) cables

4) tables
Correct Answer: enables
Candidate Answer: enables

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Knowledge helps us to our planning into the right action and to get the between right or wrong and good or bad. It helps us to our
weaknesses and faults as well as makes us able to face the dangers and difficulties by showing lots of courage and confidence. It makes a person powerful
by giving him mental, moral and spiritual advancement in the life.

get the
Options:
1) similarity

between right

2) variety
3) difference

4) resemblances
Correct Answer: difference
Candidate Answer: resemblances

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Knowledge helps us to our planning into the right action and to get the between right or wrong and good or bad. It helps us to our
weaknesses and faults as well as makes us able to face the dangers and difficulties by showing lots of courage and confidence. It makes a person powerful
by giving him mental, moral and spiritual advancement in the life.

to our weaknesses
Options:

1) showcase

2) loose

3) win

4) overcome
Correct Answer: overcome
Candidate Answer: overcome

Download More Paper@From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In
QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Knowledge helps us to our planning into the right action and to get the between right or wrong and good or bad. It helps us to our
weaknesses and faults as well as makes us able to face the dangers and difficulties by showing lots of courage and confidence. It makes a person powerful
by giving him mental, moral and spiritual advancement in the life.

a person powerful by giving
Options:

1) most

2) hardly

3) rarely

4) more
Correct Answer: more
Candidate Answer: more

QID : 276 - The Harappan site Ropar was situated on the banks of which river?

FSCUTERTelsT ¥ s fhe AT & farey P ar 2
Options:

1) Chenab

leoic

2) Sutlej

Hcelol

3) Indus

Correct Answer: Sutlej
Hdelal
Candidate Answer: Indus

Ay

)

QID : 277 - The real name of Mahavira was

AR A HTAH |
Options:

1) Siddhartha

e

2) Gautam

atqH

3) Vardhaman

FEATT

4) No option is correct.

1S o Fashed T 7T B

Correct Answer: Vardhaman

AT

Candidate Answer: Gautam

aitaer

QID : 278 - How many latitudes are there in total?

Fel JT8TIT BT HEAT Fohetatl &7
Options:

1) 66

2) 90

3) 180

4) 360
Correct Answer: 180
Candidate Answer: 360

QID : 279 - On which Island "Jakarta", the Indonesian capital is located?

AT A ISTT St R gdT W T 2
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Options:
l)pSL(IT::IeSi
BCIER
2) Java
EICH
3) Sumatra
AT
4) Bali
CICH
Correct Answer: Java
Sirar
Candidate Answer: Sumatra
HATAT

)

QID : 280 - Who made the Indian Constitution?

AR Ffqens &t fraet aamar?

Options:

1) The Constituent Assembly

YT T ¥

2) British Parliament

fofeer gag o

3) Indian Parliament

AR TG o

4) The governor general

TG oA ¥

Correct Answer: The Constituent Assembly
iy gam

Candidate Answer: The Constituent Assembly
T T ¥

QID : 281 - Who among the following holds the supreme position in the Indian political system?

FPfaf@d J @ S aRAT Teicgaeyr & gafca §?
Options:

1) Prime Minister

TETAAAT

2) Religion

By

3) Constitution and Parliament both

4) Supreme Court

Fafea =amarer

Correct Answer: Constitution and Parliament both
Candidate Answer: Constitution and Parliament both

QID : 282 - The main cause of poverty in the underdeveloped countries is

Foufashiare el & I T 7T HROT [
Options:

1) voluntary inactivity

wtes ASwaar

2) equality in income

3T H GHATAAT

3) lack of cultural activities

are o fafafert @ s

4) lack of intelligence in people

w7 gfg T 3

Correct Answer: voluntary inactivity
wios RSk

Candidate Answer: voluntary inactivity

TWRo® AfFETar

QID: 283 - gets affected with the change in Bank Rate.

o o & IRaST F gefad @ & [
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Options:
1)pMarket rate of interest
SITST T F9IR &
2) Selected investment industry
IGCRED a_ﬁa’r 3T
3) Lending bank
ROT &1 Tl e
4) Cash reserve ratio
el JRETOT JiefaTel
Correct Answer: Market rate of interest
TS HT TR &X

Candidate Answer: Market rate of interest
STST T S9TR &<

QID : 284 - What is the unit of radioactivity?

ST $r 35S F4T 87
Options:

1) Angstrom

A

2) Candela

&

3) Fermi

wHF

4) Curie

Fr

EN
Correct Answer: Curie

FU

Candidate Answer: Curie

FT

N

QID: 285 - turns the red litmus paper into blue.

el foeHd O T el T &aT & [
Options:

1) Acid

HFT

2) Base

qHEH

3) Salts

[ISCLE

4) No option is correct.
&1g o Tashed TeY 81 81
Correct Answer: Base
qEH

Candidate Answer: Base
a7

QID : 286 - According to Newton's which law of motion is possible to swim?

STeT & AT =g gt T I1fT o T3 32 o HRoT Her &
Options:

1) First law

g foaH

2) Second law

afacdrr foreer

3) Third law

GRIEAERE]

4) All options are correct.

|t fasreT T €1

Correct Answer: Third law
GREACEE

Candidate Answer: Third law
GREACEE:

QID : 287 - Energy is formed on the Sun

I IR 3T A1 AT g B [
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Options:
l)pby nuclear fission
AR [AWsS ganr
2) by nuclear fusion
GUEEIRECREK-CIN
3) by oxidation reactions
HfereiartoT Jifaframat ganr
4) by degradation reactions
Jrgeror HTAfHATHT garT
Correct Answer: by nuclear fusion
AfRHT FerdeT ganr
Candidate Answer: by nuclear fusion
TR Hordel ganT

QID : 288 - Which of the following diseases is caused by bacteria?

Ffafed 7 @ i ar dor FF R a grar g
Options:

1) Tuberculosis

s

2) Jaundice

diferar

3) Chicken pox

ATH

4) Mumps

FHCH

Correct Answer: Tuberculosis

GRICED

Candidate Answer: Jaundice

diferr

QID : 289 - For which discovery was Hargovind Khorana was given honour?

gnfae Gt 1 for @it & fow gFaTaa fonar aram?
Options:

1) For protein synthesis

TN TEATOT & forw

2) For genes synthesis

SieT TRENUT & o

3) For the synthesis of nitrogen alkalis
ATSEIST §TRT ST TEATOT & forw

4) No option is correct.

&1g o Tashed TeY 81 81

Correct Answer: For genes synthesis

SiteT HeelwoT & faw

Candidate Answer: For genes synthesis

SiteT Heerwor & faw

QID : 290 - Ozone layer present in the atmosphere absorbs

argFse & 3R 3iIshel T 3aen e el § |
Options:

1) Cosmic rays

SR foRvoit shr

2) To infrared rays

37 TRt &t

3) Ultraviolet rays

RISITAT FRTOTT T

4) All radiations

it faferort sr

Correct Answer: Ultraviolet rays
RISaTAT fRToTt Y

Candidate Answer: Ultraviolet rays

RISIEAT ROt
QID : 291 - Primary or main source of energy in ecosystem is

aTied & 31 1 graffe @ gEw whd g g [
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Options:
1) Sunlight
I T ST
2) Accumulated sugar in plants
qiet & @faa =T
3) Free heat in fermentation
Tohudet # T oA
4) Free heat during respiration
QEHA & STl HFd 3SAT
Correct Answer: Sunlight
I T T
Candidate Answer: Sunlight
& AT T

QID : 292 - Who developed the Integrated Circuit Chip?

g8 afdhe g @1 faer fraer frar &2
Options:

1) C.V. Raman

AT

2) Robert Noyce

IeE AT

3) Sabeer Bhatia

FER srfear

4) Charles Babbage

e ForeT

Correct Answer: Robert Noyce
¢ AT

Candidate Answer: Robert Noyce

e AT
QID : 293 - What is the number of players in one side in Water Polo?

qrex drell 7 T ueT # enf3at $r gear fhrae gidr §7?
Options:

1)5

2)6

3)7

4)8
Correct Answer: 7
Candidate Answer: 7

QID : 294 - To which ancient subject of India is the famous book "Lilavati" related to?

IRg Ty "Slremad!" R & g ardieT vy & g&fia g ?
Options:

1) Chemistry

F: i)

2) Philosophy

g

3) Mathematics

TS

4) Treatment

Rfehcar

Correct Answer: Mathematics

aifora

Candidate Answer: Philosophy
o)

QID : 295 - What is the purpose of 'Teerth Darshan' scheme of Haryana Government?

ERATT TRHR gaRT 'Y g2t AT T 3227 FT &2
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ptions:

1) Tour of pilgrimages in Haryana

FRATOT & el Ferer & amr

2) Promotions of pilgrimages through Television
TNt & AT ¥ NITet T =R

3) Pilgrimage to senior citizens

RS ARTRET &t reTm=T FHXar=r

4) No option is correct.

1S o frehed T 71T B

Correct Answer: Pilgrimage to senior citizens

RS ARTRT FT ST FRATET

Candidate Answer: Pilgrimage to senior citizens

afss ATRET St LT FIATAT

QID : 296 - Who discovered the Law of Electrostatic Attraction?

TeRdegd mHdor & s & @it fhee H1?
Options:

1) Newton

e

2) Coulomb

FHelF

3) Max Planck

Hed ol

4) Michael Faraday

ATSHT s

Correct Answer: Coulomb
hellFd

Candidate Answer: Coulomb
HellFa

[N

QID : 297 - Which Indian dance style is the oldest one?

AR TEART e BT Gl SreileT el ler 4 82
Options:

1) Odyssey

anfser

2) Kuchipudi

Fhagr

3) Bharatanatyam

FAATCTH

4) Kathakali
FHUFHAT

Correct Answer: Bharatanatyam
X AATCTH

Candidate Answer: Bharatanatyam
HAIAATCTH

QID : 298 - The first author to receive the "Bharatiya Jnanpith Award" was

"HRAE ARG [RERR" & FUH fFeiar Aigedsn & [
Options:

1) of Hindi literature

Ry Wfgea &

2) of Bengali literature

oo e &

3) of Kannada literature

Feels Aiged &

4) of Malayalam literature

Herared Aifecd &

Correct Answer: of Malayalam literature
FAoraTelA Aifgcd &

Candidate Answer: [ NOT ANSWERED ]

QID : 299 - Which is the first country in Europe to pay a basic monthly income to the unemployed?

SRASHTRT & foIT Teh iAAET HT8eh 3T T A e aTell JUT T Tgll 2T e 2
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Options:
1)pSweden
EIECE
2) Finland
fheTols
3) France
m
4) Britain
[Erol

Correct Answer: Finland

TheTols
Candidate Answer: [ NOT ANSWERED ]

QID : 300 - Which of the following country has the same standard time as India?

TrFAfaf@d 7 fohd & T AT THT TLT &, ST AR T 47 82
Options:

1) Nepal

AqTer

2) Bhutan

T

3) Bangladesh

SiTenger

4) Sri Lanka

Hroienr

Correct Answer: Sri Lanka
et

Candidate Answer: Bangladesh

TG
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